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Question Bank (GATE/IES) 

1.Read the following poem and answer  the  question given below  by  choosing  from the  given options  : 
Afternoons Summer is fading : The Leaves fall in ones and twos From trees bordering  The  new recreation ground . In the hollows of afternoons Young mothers assemble At swing and sandpit Setting free theirchildren
. Behind them at intervals , Stand husbands  in skilled trades , An estateful of washing, And thealbums, lettered Our wedding , lying Near the television : Before them , the wind Is ruining  their courtingplaces That  are still courtingplaces (But lovers are all in school) , And their children , so intent on Finding more unripe acorns , Expect to be taken home , Their beauty has thickened . Something is pushing them To the side of their own lives . Which of the following is a major theme of the poem?			
(RPSC 2016)
1. Housekeeping
1. Mothers losing theiridentity
1. Enduringlove
1. Poverty



2.Read the following poem and answer  the  question given below  by  choosing  from the  given options  : Afternoons Summer is fading : The Leaves fall in ones and twos From trees bordering  The  new recreation ground . In the hollows of afternoons Young mothers assemble At swing and sandpit Setting free theirchildren
. Behind them at intervals , Stand husbands  in skilled trades , An estateful of washing, And thealbums, lettered Our wedding , lying Near the television : Before them , the wind Is ruining  their courtingplaces That  are still courtingplaces (But lovers are all in school) , And their children , so intent on Finding more unripe acorns , Expect to be taken home , Their beauty has thickened . Something is pushing them To the side of their own lives.Fromthefollowingstatements,pickouttheonethatistruewithreferencetothepoem. 
(RPSC 2016)
1. Young mothers enjoy their livesimmensely.
1. Young mothers engage in interestingactivities.
1. Young mothers are trapped in dailyroutines.
1. Loveandromanceareapartofthelivesofyoungmothers.




3."Invention , Nature's Child , fled stepdame study's blows" The figure of speech used in the above line is													(RPSC 2016)
1. metaphor
1. personification
1. oxymoron
1. transferredepithet



4.The term "Connotation" refers to the							
(RPSC 2016)
1. close repetition of identical consonantsounds
1. straight forward dictionary meaning of aword
1. implications or suggestions which are evoked by aword
1. juxtaposition of images orideas



5.A figure of speech in which a part represents the whole object or idea is called		(RPSC 2014)
1. synecdoche
1. symbol
1. conceit
1. metonymy




6.Choose the most appropriate determiner to fill in the blank in the following sentence . Is there …………….reason why we should not start early ?			
	(MAT 2008)
1. much
1. the
1. any
1. more




7.Choose the most appropriate determiner to fill in the blank in the following sentence . I am giving you…………… responsibility for providing the drinks. 					(MAT 2008)
1. any
1. a
1. most
1. the




8.Choose the most appropriate determiner to fill in the blank in the following sentence . Big hotels all over the worldarevery the same.						
(MAT 2008)
1. little
1. much
1. few
1. many




9.Choose the most appropriate determiner to fill in the blank in the following sentence . There are ……………children in this area , so your child will have company .         			(GATE 2004)
1. alittle
1. most
1. afew
1. all

10. Directions (Qs. 1 - 3): A sentence has been divided into four parts. Choose the part that has an error.
1. (1) In the past, behind the immediate popularity
(2) of the phonograph is the entire electric
(3) implosion that gave such new stress and
(4) importance to actual speech rhythms in music, poetry, and dance alike

2. (1) Science really begins when general principles
(2) have to be put to the test of fact
(3) and when practical problems and theoretical relations
(4) of relevant factors is used to manipulate reality in human action

3. (1) If all cells are conceived primarily as a receptacles
(2) of the same genetic formula - not only all
(3) the individuals, but all the cells of
(4) the same individuals - what are they but the cancerous extension of this base
formula?

11.A sentence has been divided into four parts. Choose the part that has an error.

1. (1) In the past, behind the immediate popularity
(2) of the phonograph is the entire electric
(3) implosion that gave such new stress and
(4) importance to actual speech rhythms in music, poetry, and dance alike

2. (1) Science really begins when general principles
(2) have to be put to the test of fact
(3) and when practical problems and theoretical relations
(4) of relevant factors is used to manipulate reality in human action

3. (1) If all cells are conceived primarily as a receptacles
(2) of the same genetic formula - not only all
(3) the individuals, but all the cells of
(4) the same individuals - what are they but the cancerous extension of this base
formula?

(12-15). Rearrange the following letters and make a meaningful word which is opposite to the answers.

12. TSTHNAIE
(1) dential (2) decorte (3) careful (4) willing

13. NIETEMARG
(1) conscience (2) terminate (3) confrontation (4) considerate

14. TENALSGERI
(1) comfortable (2) combustible (3) confess (4) specialist

(15-17): Fill in the blanks.
15. Jayashree was habitually so docile and .......... that her friends could not understand her sudden ......... her employers.
(1) accommodating, outburst against			 (2) calm, anger for
(3) truculent, virulence toward 			(4) quiet, annoyance toward

16. Carried away by the ......... effect of the experimental medication, the patient......... his desire to continue as a subject for as long as he could.
(1) supplementary, announced 			(2) smoothening, proclaimed
(3) satisfying, repeated 				(4) salutary, reiterated

17. As several shops have ......... across the street, the old directory is .........
(1) relocated, obsolete 				(2) moved, wasteful
(3) transferred, useless 				(4) travelled, redundant

18.Choose the order of the sentences marked A, B, C, D and E to form a logical paragraph.
A) Easy or not, etiquette is important
B) There's a reason for doing things the way we do them -- we just have no idea
what it is.
C. I had to interrupt my cell phone call to tell him off.
D. I was trying to explain this the other night to my children -- Matt, 15, and
Becky, 11 --- who, I'm ashamed to say, have been allowed to develop less than
perfect manners, especially at the table.
E. At this particular family dinner, I caught Matt buttering his backed potato with
his finger.
(1) ABCDE (2) ABDEC (3) BCDAE (4) BDACE


19. Directions(Qs.1-3):Asentencehasbeendividedintofourparts.Choosethepart that has anerror.
(MAT 2012)
1. (1) In the past, behind the immediatepopularity
(2) of the phonograph is the entireelectric
(3) implosion that gave such new stressand
(4) importance to actual speech rhythms in music, poetry, and dancealike
2. (1) Science really begins when generalprinciples
(2) have to be put to the test offact
(3) and when practical problems and theoreticalrelations
(4) of relevant factors is used to manipulate reality in humanaction
3. (1) If all cells are conceived primarily as areceptacles
(2) of the same genetic formula - not onlyall
(3) the individuals, but all the cellsof
(4) thesameindividuals-whataretheybutthecancerousextensionofthisbase formula?

20. Fill in the blank in the following sentence with the most appropriate tense from the given options. Who was thatgirlyou	to when I passed you in the street?
1) wastalking
2) weretalking
3) talked
4) hadtalked


21. Directions(Qs.1-4):Studythepassagesbelowandanswerthequestionsthat follow eachpassage.
(GATE 2017)

Fordecades,theGovernmenthasgrappledwithIndia'shealthcareshortcom- ingsbyintroducingvariousprogrammes.Despitesomemeasureofsuccess,theprob- lemofuniversalhealthcareaccesscontinuestofesterlikearecalcitrantsore.While there are several reasons for the lack of complete success in improving health care access, the overall problem may lie in the pursuit of improper priorities. To address accessissuedheadon,radicallyimprovingprimaryhealthcareinIndiashouldbetop priority. A steep shortage in primary health care centres (PHCs) across India is the primereasonwhyvillagersareforcedtotrekalmost20kmtoreachthenearestPHC. This may still be of little use, because most PHCs are perpetually plagued by a sup- plyandstaffshortage,makingmattersworseforsickpatientswhoexpendtime,ener- gyandresourcestoreachthePHC.Forpeoplefromtownsandsemi-urbanareasseek- ing modern medical care the situation is no different since they need to travel to the nearest city. Despite 7,50,000 doctors registered with the Medical Council of India, thegroundrealityisthatabout2,00,000aren'tactiveanymore.ThismeansIndiahas onlyonedoctortotreat2,000people,insteadofonedoctorforevery1,000.Improving thosefigureswilltaketimebecausethenumberofmedicalandnursingcollegescan- notbehikedovernighttoboosttheoutputofmedicalgraduates.Thetimehascometo firmly recognise that health and health care issues cannot be left solely to the GovernmentorpublicsectorentitiesifIndiaistomeetitshealthcaretargetsinclud- ing Millennium Development Goals for 2015. Such immense investments and spe- cialisedskillscouldbestbetappedifpublic-privatepartnershipswerepromotedand Privatecompaniesencouragedtoestablishhealthcareinfrastructureinallgeographies
- urban, semi-urban and rural - particularly where primary health care is concerned. Estimatedindicatethatonly320millionpeopleor26percentofIndia'spopulationare covered under some form of medical insurance - public or private. In other words, largeuncoveredsectionsofthepopulaceareforcedtomeetmedicalcostsviaout-of- pocket spends, causing immense financial burden and pushing many families into poverty.
 1. Whatis/aretheprimaryreason(s)forthelackofcompletesuccessinimproving
health care in India?
A. Total government apathy in thisarea.
B. Policy makers' inability to properly priorities the measuresrequired.
C. Shortage of PHCs across thecountry.
(1)Aonly	(2)Bonly	(3) A&C	(4) A, B &C
                                                           [image: G:\JECRC DATA\JECRCLOGO.png]
Jaipur Engineering College
and Research Centre

 (
www.careerindia.com
)
2. It is implied in the passagethat
(1) when it comes to primary health care facilities, people from villages and towns are equally at adisadvantage
(2) PHCsestablishedinthecountryactuallybecomeineffectiveduetoshortage of doctors and medicalsupplies
(3) the best way to ensure better health care facilities in the country is to priva- tise themcompletely
(4) with the will to work, government can improve health care facilities in the country within a shortperiod
 3. Whichofthefollowingstatementsis/aretrueinthecontextofthepassage?
(1) Acountry'smonetaryhealthisdirectlyaffectedbythephysicalhealthofits citizens
(2) Indiahaslessernumberofdoctorsandnursesthanmostothercountriesinthe world
(3) Onlyaboutone-fourthofIndia'spopulationhasaccesstohealthinsurance
(4) Allthese
4. Whichofthefollowingstatementsis/arenottrueinthecontextofthepassage?
A. The Government has failed to correctly assess the requirement of medical colleges inIndia.
B. Over25%ofthedoctorswhoregisterwiththeMedicalCouncilofIndianever get into the medicalprofession.
C. Private participation in the primary health sector is a must to ensure its suc- cesswegoforwardtowardsMillenniumDevelopmentGoalsfor2015.
(1)Aonly	(2)Bonly	(3) A&B	(4) A, B &C




	








22. Directions (Qs. 1 - 3): Fill in the blanks.
(MAT 2012)
1.Jayashree was habitually so docile and .......... that her friends could not under- standhersudden	heremployers.
(1) accommodating,outburstagainst	(2) calm, angerfor
(3) truculent,virulencetoward	(4) quiet, annoyancetoward
2.Carriedawaybythe.........effectoftheexperimentalmedication,thepatient
......... his desire to continue as a subject for as long as he could.
(1)supplementary,announced	(2) smoothening,proclaimed
(3)satisfying,repeated	(4) salutary,reiterated
3.As several shops have ......... across the street, the old directory is.........
(1)relocated,obsolete	(2) moved,wasteful
(3)transferred,useless	(4) travelled,redundant



23. Directions (Qs. 1 - 3): Rearrange the jumbled alphabets in the following four options and find the odd word among them.
(CAT 2016)

	1.
	(1) OTLLABFO
	(2) NDPGOYLUAR

	
	(3) AOHCC
	(4)IONSNTCTOTIC

	2.
	(1) SSSROCIS
	(2) BELDA

	
	(3) FIENK
	(4) DIDLCNKOR

	3.
	(1) YOJ
	(2) SNAPIHSPE

	
	(3) TEIHGTEDMNL
	(4) RHICA




24. Fill in the blank in the following sentence with the most appropriate tense from the given options. Soon after he had left, herealizedhe	hiswallet.
1) wasforget
2) hasforgotten
3) hadforgotten
4) forget

25. Directions(Qs.1-3):Rearrangethefollowinglettersandmakeameaningfulword which is opposite to theanswers.
1. TSTHNAIE
(1)dential	(2)decorte	(3)careful	(4)willing
2. NIETEMARG
(1)conscience	(2)terminate	(3)confrontation	(4) considerate
3. TENALSGERI
(1)comfortable	(2)combustible	(3)confess	(4)specialist

26. Which of the following is NOT enumerated as a constituent element of tragedy by Aristotle?
1) Imagery
2) Diction
3) Character
4) Plot

27. Pick out the attribute not mentioned by Aristotle as a requirement of Character.
1) good
2) lifelike
3) heroic
4) consistent

Select the statement that is FALSE with reference to Aristotle's conception of tragedy.
1) Thechangeoffortuneshouldfollowtheprobableandnecessarysequenceofevents
2) The plot should be simple, notcomplex
3) It must imitate actions arousing pity andfear
4) Theplot must havemultipleissuestoenrichitsdramatictexture


28.. Directions(Qs.1-4):Studythepassagesbelowandanswerthequestionsthat follow eachpassage.
With will and vision, India's energy prospects can be changed from grim to green,andtheworldwillbenefitasaresult,At571kWhpercapita,India'selectrici- ty consumption is one-fifth of China's (2,631 kWh) and less than one - twentieth of theUSA's(12,914kWh).India'selectricitydemandwillonlygrow.Solarelectricity today at Rs.7.50 a kWh is economical compared with subsidised diesel generated power at roughly Rs.15 a unit, but more expensive than coal - based electricity at aboutRs.6And,inanycase,Indiahasash-richcoal.Whatisthetruecostcoal - based power? Prices are distorted by subsidies, State boundaries, vote - bank politics,andunchargedcarbon-emissioncosts.CanIndialeapfrogintoaclean-ener- gy future rather than extend the conventional grid with fossil fuels at its core? In a nationblessedwithabundantsunlight,towhatextentshouldelectricitybeanetwork- ingserviceatall?CouldIndiatapambientsolarenergyformostofitsneeds?India's single-mindedfocusshouldbemassiveandrapidsolardeployment,notonlythrough utility - scale solar plants, but also through distributed generation, household - by - household,nationwide.ElectricityinIndianhomesshouldberooftop-to-roomand solar based with energy self - sufficiency as the goal; the grid can complement and serve as back - up where available. Anchored with solar, the solutions may include combinationswithbio-diesel,batteries,wind,biogas,micro-hydro,etc.Atnightor when the sun is behind clouds, alternative yet local sources can assure electricity. Oncesolarenergytakesroot,Indiawillneedlessofthecolossalandwastefultrans- mission, distribution and generation infrastructure except for industrial operations such as running factories andtrains.


1. Whichofthefollowingfactorsis/arefavouringIndia'stransitiontoaclean
energy future?
A)  (
www.
)India has abundantsunlight.
B) India's electricity consumption is less than China's or theUSA's?
C) India has ash - richcoal
(1)Aonly	(2) A&B	(3) A& C	(4) Conly
2. It is implied in the passagethat
(1) 'electricity - for - all' should be the Government'smotto
(2) traditionalelectricpowershouldbereplacedbysolarelectricpowerinIndia
(3) if India transforms itself into a clearn energy country, the rest of the world would benefit due to additional electricity available tothem
(4) Allthese

 3. It is not implied in the passagethat
A) Indiashouldswitchovercompletelytosolarpowerbyinstallingsolarpower kits in everyhousehold.
B) by installing solar panels on every roof top, India could make power grids redundant.
C) per capita energy consumption in China is higher than that inIndia
(1) A& B	(2) B& C	(3) A& C	(4) A, B &C

4. It can be inferred from the passagethat
(1) India is the third - largest producer of electricity in theworld
(2) solar electricity is not necessarily more expensive than coal - based electricity
(3) as of today India, as a country, has energy self -sufficiency
(4) Allthese

29.Fill in the blank in the following sentence with the most appropriate tense from the given options. I
……………. the instructions but I don't understandthem.
1) haveread
2) will read
3) amread
4) wasreading





30. Fill in the blank in the following sentence with the most appropriate tense from the given options. He
…………….. what you told him.
1) isbelieving
2) wasbelieving
3) wasbelieved
4) believes


31. Directions(Qs.1-4):Studythepassagesbelowandanswerthequestionsthat follow eachpassage.
 (
www.
)Apprehensivethatpharmacompaniesmaystoporreduceproductionofessen- tial drugs after they come under price control, the Government is mulling steps to ensure that companies maintain present levels of output of these critical drugs. Sources said the recent decision to put a price cap 348 drugs was accompanied by a concernthatthemanufacturescouldloseinterestinthesemedicinesowingtoreduced marginsofprofit.Itwasbasedonthepastexperiencewhenthedrugpricecontrolwas firstenacted.TheGroupofMinisters(GoM)thattookthelandmarkdecisiondirected theDepartmentofPharmaceuticaltoensurethatpresentproductionlevelsweremain- tainedafterthepricecontrol.Asafollow-up,sourcessaid,theGovernmentcouldfix mandatorylevelofproductioninthesedrugsforeachcompanyinbusiness.Thefear overcompaniesretaliatingwithdecreaseproductionrevolvesaroundthefacttheprice controlwouldcheckprofitmargins.Oncetheessentialmedicinesarebroughtunder theDrugPriceControlOrder,theycannotbesoldatapricehighterthanthatfixedby the Government. A senior official said, "We will ensure that accessibility and avail- abilityofessentialdrugsdoesnotgodown".TheGoMhasalsodecidedthattheprices ofmedicines,whicharepartofthepricecontrolorderof1995butnotintheNational List of Essential Medicines 2011, would be frozen for a year and thereafter a maxi- mumincreaseof10%perannumwouldbepermitted.Outofthe348medicines,the prices of 37 drugs are controlled by the National Pharmaceutical Pricing Authority (NPPA). The Government, through the NPPA, controls prices of 74 bulk drugs and theirformulations.
1. Which of the following is not outlined in the passage as a possible retaliatory measure of the pharmacompanies?
A. Altogether stopping production of the 348 essential drugs put under price control.
B. Reducing production of non essentialdrugs.
C. Strive to get the 348 drugs out of the list of essentialdrugs.
(1) A& B	(2) B& C	(3) A& C	(4) A, B &C
2. It is implied in the passagethat
(1) mandatorylevelsofproductionofessentialdrugshadhithertoneverbeenin existenceIndia
(2) Governmentcontrolondrugspriceswoulddirectlyaffecttheirprofitmargins
(3) Both (1) and(2)
(4) Neither (1) nor(2)
3. Which of the following is/ are the outcome(s) of the enactment of Drugs Price ControlOrder?
(1) The Government has also decided to take up widespread distribution of essentialdrugs.
(2) There is widespread resentment against this law; chiefly by the drug manu- facturers
(3) TheDepartmentofPharmaceuticalhasbeenformedtoensureproperimple- mentation of the price controlmechanism
(4) None ofthese
4. In India the government fixes the pricesof
(1)allmedicines	(2) essential drugsonly
(3) bulkdrugsonly	(4) None ofthese

32. Fill in the blank in the following sentence with the most appropriate tense from the given options. The girl
……………. on the piano and was singing softly to herself.
1) played
2) wasplaying
3) had  beenplaying
4) has  beenplaying

33. Choose the correct meaning of the idiom 'storm in a tea cup' from the options given below.
1) Eagerexpectation
2) Carelessbehaviour
3) Fuss about somethingunimportant
4) An easytask

34. Fill in the blank in the following  sentence with the most appropriate tense from the given options. Even today,    a notice at the end of theroad	people not to go anyfurther.
1) hadwarned
2) iswarning
3) haswarned
4) warns


35. Directions(Qs.1-4):ChoosetheorderofthesentencesmarkedA,B,C,DandE to form a logicalparagraph.
1. A) Easy or not, etiquette isimportant
B)There'sareasonfordoingthingsthewaywedothem--wejusthavenoidea what itis.
C. I had to interrupt my cell phone call to tell himoff.
D. I was trying to explain this the other night to my children -- Matt, 15, and Becky,11	who,I'mashamedtosay,havebeenallowedtodeveloplessthan
perfect manners, especially at the table.
E. Atthisparticularfamilydinner,IcaughtMattbutteringhisbackedpotatowith hisfinger.
(1)ABCDE	(2)ABDEC	(3)BCDAE	(4)BDACE
2. A."Areyouallright?"Iasked,asIhelpedhertoherseat."Thatturbulencewas as bad as itgets."
B. Flying in the summer means one thing:turbulence.
C. Iwasworkingasaflightattendantwhenwehitapatchofveryroughairjust afterayoungteenager,obviouslyonherfirstflight,hadenteredthebathroom.
D. Afterthebumpshadsubsided,sheexitedthebathroom,alookofsheerterror etched on herface.
E. "Sothat'swhatitwas,"shesaid,"IthoughtI'dpushedthewrongbutton."
(1)DAEBC	(2)BCDAE	(3)AEBDC	(4)CADBE

3. A. But, transportation is difficult and the Pantanal is little known outside of Brazil.
B. The people who live here have their fingerscrossed.
C. Because if ecotourism doesn't work, there is no alternativewaiting.
D. There are now some 60-odd tourist facilities here, most of them small and locallyowned.
E. Worldwide,thejuryisstilloutontheideaofecotourismandthePantanalhas become a testingground.
(1)EDABC	(2)DAEBC
(3)ECBAD	(4)EDCBA
4. A.Andthensupposeyoupushedthe'Reverse'buttonandtookatripintheoppo- site direction journeying into the dim recesses of thepast.
B. Just suppose you could clamber aboard a Time Machine and press the 'Forward'button.
C. You might just land right into your favourite period ofhistory.
D. Zap...wouldyouhurtleforwardthroughablindingflashofdaysandnights, monthsandyears--evenlongcenturies---perhaps,tolandintoanalienworld of the future.?
E. A world that will be a marvel oftechnology.
(1)CDABE	(2)CBADE	(3)BDEAC	(4)BDECA

36. Fill in the blank in the following sentence with the correct idiom. There is no way of coping with orders that comein	throughout theyear.
1) pipinghot
2) part andparcel
3) fits andstarts
4) hue andcry

37. Directions (Qs. 1 - 3): Rearrange the jumbled alphabets in the following four options and find the odd word among them.

	1.
	(1) OTLLABFO
	(2) NDPGOYLUAR

	
	(3) AOHCC	
	(4)IONSNTCTOTIC

	2.
	(1) SSSROCIS
	(2) BELDA

	
	(3) FIENK
	(4) DIDLCNKOR

	3.
	(1) YOJ
	(2) SNAPIHSPE

	
	(3) TEIHGTEDMNL
	(4) RHICA




38. Fill in the blank in the following sentence with the most appropriate tense from the given options. I
……………… to work everyday last year.
1) amwalking
2) walk
3) walked
4) hadwalked


39. Directions:Eachofthesequestionshasatextportionfollowedbyfour alternativesummaries.Choosetheoptionthatbestcapturestheessenceofthetext.
 An employee who is given the financial support and resources to create new productsorsystemsiscalledanintrapreneur.Someofthegreatestbusinesslead- ersofthepastmadetheirearlymarkinbusinessasintrapreneurs.Mostprogres- siveorganisationsviewintrapreneurshipasawaytodevelopandretainthebest manpowerandprovideanentrepreneurialatmospherewithintheorganisation.It also adds to the potential of an otherwise staticorganisation.
(1) An entrepreneur works independently to setup a business venture while an intrapreneur does the same thing for the company he worksfor.
(2) Intrapreneurshiphelpsorganisationstonurtureandretainthebestoftalentfor mutualbenefit.
(3) Big companies encourage intrapreneurship which, in turn, throws up future entrepreneurs.
(4) While entrepreneurship is a well known concept, intrapreneurship is an emergingconcept.

40. Pick out the correct particle to complete the phrasal verb in the following sentence expressing the meaning given in brackets.They'veput	the match until next week.(Postponed)
1) in
2) off
3) out
4) on

	41. Directions:Eachofthesequestionshasatextportionfollowedbyfour alternativesummaries.Choosetheoptionthatbestcapturestheessenceofthetext.

Health these days is being threatened by a growing phenomenon. Bacteria that causecommonlifethreateninginfectionsarebecomingincreasinglyresistantto antibiotics. This is due to the widespread use and misuse of such antibiotics. Antimicrobial resistance needs immediate attention. Self-medication shouldbe discouraged.Asepsisshouldbethegospelforthepreventionofinfection.
(1) Recklessuseofantibiotics,themaincauseofdrugresistantbacteria,hasled to a serious healthchallenge.
(2) Overthecounteravailabilityofantibioticsencouragesself-medication.
(3) Keeping our surroundings germ - free can curb the need ofantibiotics.
(4) Mutated drug resistant bacteria are a serious threat to ourlife.


42. Identify the sentence pattern of the following sentence from the options given below. The teacher called the pupil afool.
					(RPSC 2016)
1) S +V
2) S + V +DO
3) S + V + DO + Obj .Compliment
4) S + V + DO +Sub.Compliment


43. Identify the sentence pattern of the following sentence from the options given below. He painted the door green.
					(RPSC 2016)

1) S +V
2) S + V + DO + Obj .Compliment
3) S + V +DO
4) S + V + DO +IO

44. Fill the blank in the following sentence with the appropriate idiom. She is so unhappy that she is ready ………..with anyone who contradicts her.
					(RPSC 2016)

1) to playup
2) to pick aquarrel
3) goalong
4) to playdown

45. Identify the sentence pattern of the following sentence from the options given below. He put the book on the table.
					(RPSC 2016)

1) S + V + DO + Adv .P
2) S +V
3) S + V +DO
4) S + V + DO +IO


46. Choose the correct meaning of the phrasal verb 'Take Up' from the options given below.
1) Start doing anactivity
2) To buysomething
3) Begin tolike
4) Toresemble

47. Fill in the blank in the following sentence with the most appropriate phrasal verb. I was taught geography at schoolbutnever it.
					(RPSC 2016)

1) spokefor
2) sawthrough
3) tookto
4) ranafter


48.Complete the phrasal verb keeping  in mind the meaning  given in brackets. I'vegiven	smoking.
(Stopped)
					(RPSC 2016)
1) up
2) down
3) out
4) into


49. Identify the sentence pattern of the following sentence from the options given below. The child was sleeping on the bed.
					(RPSC 2016)

1) S + V +Adv
2) S + Adv +V
3) S + V +DO
4) S + V + Obj .Compliment

50. Match List I with List II and select the correct answer by using the  code  given below. List I List II 
A. Carry on M. angry / upset about B. Cut up N. continue doing C. Go through O. recover consciousness D. Come  round P. experience something esp.unpleasant
1) A B C D P N O M
2) A B C D N M P O
3) A B C D O P N M
4) A B C D M P N O
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